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ECONOMICS
[HONOURS]
Paper : V
(1st Half & 2nd Half)

Full Marks : 100 Time : 4 Hours

The figures in the right-hand margin indicate marks.
Candidates are required to give their answers in their

own words as far as practicable.
Use separate answer scripts for each Half.

FIRST HALF
[International Economics]
(Marks : 50)

1. Answer any four questions: 2x4=8
@I TS 2oas Ted wie ¢
a) What are the components of gains from
trade?
aifey wAicen TAmmal F Fie
b) Why is 'offer' curve called the reciprocal
demand curve?
O (A Hifenl @R SIS T T (& 2
c¢) Differentiate between current account and

capital account in BOP.

BOP(® current account @3} capital account
a7 ATy 9|

[Turn over]

d)

g)

h)

What is physical definition of factor

abundance?
GoRmzel PRI TS HKel Wi |

What is depreciation of currency?

U SRR @00 6 (@2

Define Balance of trade.

Alfeley el F6fel wie |

What do you mean by 'factor reversal'?
ToAmIF-Ca=ise)” @IS 6 (e

What do you mean by non-tariff barrier to

trade? Give an example of it.

AT CF@ T-wFAY e [F @R 9O
TWEFS WNe |

Answer any three questions: 6x3=18

- Toals arez Tex wie ¢

a)

b)

102/Eco.

Comment on the role of demand in Ricardo's

comparative cost theory.

RIS TeeTs I3 ©0g bifEna e S
S ¢ |

Show that gains from international trade can
be decomposed into two components gains
from exchange and gains from production

specialisation.

(2)



d)

mele @ Sesifes Affasie sre yb i
ool 391 I - [fewwiae e ¢ Teome

Reisaesie e |

What is meant by 'optimum tariff'? State and

explain the conditions under which 'optimum
tariff' is likely to be high and zero.

'Optimum tariff e F @R ? @ TER
'Optimum tariff'-9q Ji« SOIRUER HeJ 2C9 Al ?
State and prove the Hecksher-Ohlin theorem

using price definition of factor abundance.

(TR~ 92feT Ol i F9 @R TR ABEI
v HAces! wi @t el 9

Explain the concept of Metzler Paradox in
tariff.

WET (%09 Metzler-93 (739 I 4|

'Balance of payments always balances'-

explain.

G [OF (@TW T SIAGY A — A
9|

Answer any two questions: 12x2=24

@~ 7o 2ea Ted wis ¢

a)

102/Eco.

Describe how devaluation affects the balance

of payments of a country. In this connection,

(3) [Turn over]

b)

d)

102/Eco.

distinguish between the elasticity and
absorption approaches to devaluation.
4+8

TR SRR Feld @@ o e doifie
F(H - I 9 | G2 DA AR F2fogiorFe
fofes wg gk T fefes wrea Wy iy
foefr <5411

Define fixed exchange rate system and

flexible exchange rate system. Explain the
relative effectiveness of fiscal and monetary

policies under these two systems.

AR @R 77 e sReaAe e IR
A<eel e | G2 Twd R ST IS ¢ Rl

Aifed gertE FRSIOR A 4|

Critically analyse the role of IMF in world

trade.

femRifeicen IMF-as1 Bfseel G 720 i)
|

State and prove the Stolper-Samuelson

Theorem.

Stolper-Samuelson-43 welb @12 IR 4 F9 |
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SECOND HALF

[Money, Banking & Capital Market]

(Marks : 50)
4.  Answer any four questions: 2x4=8
-1 BTG eeas Ted wis ¢
a)  What is high powered money?
THFAOPTIE O IS F (I 2
b)  What is open market operation?
Gl e TR F 2
¢)  Which bank is the lender of the last resource?
SR AR TA (I T 2
d) What is insider trading?
eS| ifdey He
e) What is hedging?
Hedging ¢
f)  What is meant by 'Call money market'?
'Call money market' J&ce F @R 2
g)  Distinguish between M, and M..
M, 9 M43 e A1 54|
h)  What is called liquidity trap?
O FT I A 2
102/Eco. (5) [Turn over]

Answer any three questions: 6x3=18

- Toals arez Tex wie ¢

a)

b)

d)

102/Eco.

Explain the different determinants of money
supply.
DI @ialieT e faimeefer e =0

Briefly explain the primary and secondary
market related with capital market.

ELE G (e AT ¢ Wi qres-ag
Lieflfl el il |

Explain the mixed banking system. Why it is
preferred over pure banking?

ol iR =gl i 91 S &L @ pure
i@ (A @ aRecian ?

Define share and stock. Briefly explain their
features. 2+4

(*IT1F 8 60T AL WIS | OIvd (IRBresfet Aot
3efelt 9 |

Define money multiplier. Explain how money

multiplier is derived. 2+4

wiefadrrg Aee vie | el sideds Wife 23
A FAN

Distinguish between commercial bank and
NBFlIs. 6

Aifdfens @%@ NBFIs-a3 Sy 2119 @74 |

(6)



6. Answer any two questions: 12x2=24
@I 9o e Ted wie ¢

a)

b)

d)

102/Eco.

Briefly explain the reasons of bank failures.
In this context explain the concept of deposit

insurance. 8+4

JE T oo T FRNE IR F9 9R O3
oo SIS I 4R g 9

Explain clearly the roles of arbitrager, hedger,

speculator, trader, broker in capital market.
24+2+2+3+3

AT ©IC Jote AN SARGN, @, o
FRAIN, Uk e @R STl i 4

What is meant by liquidity trap? Which factor
is responsible for its emergence? Explain how
rate of interest and speculative demand for
money are inversely related. 2+3+7

SIRPIGHA T J6TC0 (@RI 2 @3 P Gl (o]
T Wil 2 990 Q9 8 TR PRI ey S

SifEwia ey A T A 9

Discuss Friedman's re-statement of Quantity

theory of money. Why is it called 'Monetarist

Revolution'? 10+2
RresicTa ol AAfiereres 2meRgielt 7ol |
@5 @1 wdaim Qg qE e

(7)



